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Comparing the numbers: 

Example1:  21  /  3              64  /  8 

      7            <            8 

Example 2: 81  /  3                121  /  11 

      27            >             11 

Example 3: 4  /  2  6  /  3 

     2               =            2 

a.    100  /10      ____      24  /  2 

b.    104  /  13    ____      39 / 13 

c.   75  /  5         ____      45  /  9 

d.   84  /  4       ____        36  / 3 1875  /  15   =125 

 

 

Start on a new page 

Word problem: 

Example :   1887dairy milk chocolates are to be distributed 

           equally among 15 shopkeepers.  Find the number 

           of dairy milks chocolates each shopkeeper gets? 

           Find the number of chocolates left? 

 



Answer:   Total number of chocolates   =   1887 

        Number of shopkeepers         =    15 

        Number of chocolates each shopkeeper gets   =   ____ 

       Number of chocolates left    =   ____ 

                         1    2   5 

  15)   1   8   8    7 

                -  1   5     

                   0   3   8   

- 3   0 

0   8   7   

   -7    5   

    1    2 

           Number of chocolates each shopkeeper gets   =  125 

           Number of chocolates left  =   12 

a. 8124 food packets were distributed in 6 schools. Find the  

number of food packets each school received. 

b. 495 students are there in 9 classes. How many students  

are there in each class? 

c. 2768 flowers are to be distributed equally among 8 florist. 

How many flowers will each florist get? 

d. There are 4536 fruit boxes in 12 trucks. How many fruit  

boxes are in one such truck?     



 

  

              

 

 


